1. Simulate stand test 1, note developmental characteristics. Note the evolution of the Total stand, TVP and non- productive indicators. 
	periodic
	Number of trees
	Volume per hectare
	Mean diameter
	TVP
	APi
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Propose some thinning and note the characteristics:
	periodic
	Number of trees
	Volume per hectare
	Mean diameter
	TVP
	APi
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2. Simulate stand test 2, note developmental characteristics. Note the evolution of the Total stand, TVP and non- productive indicators. 
	periodic
	Number of trees
	Volume per hectare
	Mean diameter
	TVP
	APi
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Propose some thinning and note the characteristics:

	periodic
	Number of trees
	Volume per hectare
	Mean diameter
	TVP
	APi
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3. Simulate stand test 3, note developmental characteristics. Note the evolution of the Total stand, TVP and non- productive indicators. 
	periodic
	Number of trees
	Volume per hectare
	Mean diameter
	TVP
	APi
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Propose some thinning and note the characteristics:

	periodic
	Number of trees
	Volume per hectare
	Mean diameter
	TVP
	APi
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